COLES - Coles COMPANY: CCSi

PROJECT:Custom Report Example

PROBUILD

DATE:Wed Nov 17 14:13:30 EST 2010

SubTitle:

Bid Currency: Australian Dollars

Source	Code 1	Code 2	BQRef	RC	CC	Description	Unit	Quant	Rate	Cost
FF	coles	sales				Sales Area 400 x 400 selected quarry tiles laid on Total of Sales Area	m2	194.8	57.9999	11,299.00 11,299.00
FF FF FF FF	coles coles coles coles coles	amen amen amen amen	1. 1. 1.			Toilets and Change Rooms Selected mosaic floor tiles laid on Selected mosaic floor tiles laid on Selected mosaic floor tiles laid on Dito in shower bases Dito in shower bases Total of Toilets and Change Rooms	m2 m2 m2 m2 m2	15.75 27.3 17.25 9.0 27.0	60.0004 60.0004 60.0004 75.0 75.0	1,639.00
FF FF FF	coles coles coles	com com com				Offices and Staff rooms Ditto but laid to falls and cross falls Ditto but laid to falls and cross falls 400 x 400 selected quarry tiles laid on Total of Offices and Staff rooms	m2 m2 m2	49.44 42.53 193.43	65.0006 65.0006 57.9999	3,214.00 2,765.00 11,219.00 17,198.00
						Total of Coles				34,818.00

BIGW - BigW COMPANY: CCSi

PROJECT: Custom Report Example

PROBUILD

DATE:Wed Nov 17 14:13:30 EST 2010

SubTitle: Bid Currency: Australian Dollars

Source	Code 1	Code 2	BQRef	RC	CC	Description	Unit	Quant	Rate	Cost
FF	bigw	circ				Coridors etc Ditto but laid to falls and cross falls Total of Coridors etc	m2	49.92	65.0006	3,245.00 3,245.00
FF FF FF	bigw bigw bigw	amen amen amen	1. 1. 1.			Toilets and Change Rooms Selected mosaic floor tiles laid on Selected mosaic floor tiles laid on Selected mosaic floor tiles laid on Total of Toilets and Change Rooms	m2 m2 m2	13.34 9.99 51.4	60.0004 60.0004 60.0004	600.00
						Total of BigW				7,731.00

COMPANY: CCSi

PROJECT: Custom Report Example

PROBUILD

DATE:Wed Nov 17 14:13:30 EST 2010

Bid Currency: Australian Dollars

SubTitle:

Source	Code 1	Code 2	BQRef	RC	CC	Description	Unit	Quant	Rate	Cost
						Sales Area				
FF	target	sales				Ditto but laid to falls and cross falls Total of Sales Area	m2	106.52	65.0006	6,924.00 6,924.00
FF FF	target target	circ circ				Coridors etc Ditto but laid to falls and cross falls Ditto but laid to falls and cross falls Total of Coridors etc	m2 m2	37.5 22.4	65.0006 65.0006	2,438.00 1,457.00 3,895.00
FF FF	target target	amen amen				Toilets and Change Rooms Dito in shower bases Dito in shower bases Total of Toilets and Change Rooms	m2 m2	42.0 23.8	75.0 75.0	3,150.00 1,785.00 4,935.00
FF	target	com				Offices and Staff rooms 400 x 400 selected quarry tiles laid on Total of Offices and Staff rooms	m2	61.75	57.9999	3,582.00 3,582.00
						Total of Target				19,336.00

COMPANY: CCSi

PROJECT: Custom Report Example

PROBUILD

DATE:Wed Nov 17 14:13:30 EST 2010

SubTitle: Bid Currency: Australian Dollars

Source	Code 1	Code 2	BQRef	RC	CC	Description	Unit	Quant	Rate	Cost
FF	com	amen				Toilets and Change Rooms Dito in shower bases Total of Toilets and Change Rooms	m2	27.9	75.0	2,093.00 2,093.00
FF FF	com	com	1.			Offices and Staff rooms Selected mosaic floor tiles laid on Selected mosaic floor tiles laid on Total of Offices and Staff rooms	m2 m2	32.99 42.47	60.0004 60.0004	1,980.00 2,549.00 4,529.00
						Total of Common areas				6,622.00

COM/4 A Custom Report Example

COMPANY: CCSi

PROJECT: Custom Report Example

PROBUILD

DATE:Wed Nov 17 14:13:30 EST 2010

SubTitle:

Bid Currency: Australian Dollars

Source	Code 1	Code 2	BQRef	RC	CC	Description	Unit	Quant	Rate	Cost
				_		Coles BigW Target Common areas		1		34,818.00 7,731.00 19,336.00 6,622.00
						BigW				7,731.00
						Target				19,336.00
						Common areas				6,622.00
						Total of this Report				68,507.00
						Total of this neport				00,507.00
							l			